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1. IRITEZRUVINIZEDLHS (R AEt:1004) XEim 44 x 25/
B & B 1E fi# B = B & B 1E fi# [
(1) 7 4 (14) I 4
(2) A 4 (15) T 4
(3) 7 4 (16) 7 4
(4) I 4 (17) T 4
(5) 1 4 (18) 7 4
(6) ) 4 (19) 14 4
(7) T 4 (20) ) 4
(8) ) 4 (21) 7 4
(9) A 4 (22) 7 4
(10) ) 4 (23) r? 4
(11) A 4 (24) 7 4
(12) ) 4 (25) I 4
(13) 1 4
2. IRITENI. EXNFTBROEANR (BB B5T:96R) XER 45 x 24f
ElrEE = E% 1E fi# i ElrEE = 5% 1Efi# [y
(1) 7 4 (14) I 4
(2) I 4 (15) ) 4
(3) 4 4 (16) 7 4
(4) 7 4 1 (17) ™ 4
(5) 7 4 (18) 7 4
(6) ) 4 (19) 7 4
1 (7) T 4 (20) 1 4
(8) I 4 2 T 4
(9) A 4 3 1 4
(10) A 4 4 T 4
(11) 7 4 5 IERRIELCR 4
(12) ) 4
(13) T 4
3. ENRITER (FRAAET:428) XA 45 x 9o, 3aX2MH
ErEE = E% 1E fi# i
(1) L = 2
1 @ = 3
(2) 7 4
(3) 14 4
2 A 4
3 I 4
(1) 7 4
(2) ) 4
4 (3) A 4
(4) 7 4
(5) ) 4
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